EIhREERESY VS

M series

a2, 008 B8
Ov21Nb7, YU=2INbTRE, S5ICRES £ YRt aaeith
01\, BE(LEERLELL

OOv /LT YU=DJINILTAR. SSICHESR Y I aRE
*CEXIIn Mm@

EFEAAVFFIHBLTVEE A
BEROFHHEEICEDB T IERNZSE(C
W &R CREEVET.
1R‘ Q -
M-HA type M-HB type e
(EA— M) GEAR— M)l
f - s =] T
x
| .'E Hw
~ kSIS
S CI%45 s
=3 =i il ‘3-9
| \ Ld=r8 '@‘i
] ; 2-¢U [} _<Ip/ 1z + |
: ] * o ORMAVME DI - 6T
/ M N\6-T o .
M6X1 1 UR12 2 T {h M6X1 12 UiR12 L e P
Bz — i @41k 58
M-HC type R. Q. M1935HC
(R—MEL) [T
; G ..'-,-._ N
."IA @'._ ! = B_ Elu;
_ 3Rei4 L . o
—) ®
2-8UR %/ *©
mm Sreds ||
M6X1 #aUR12
[ENEY::
M1935HC

A

M1120HA21D| 145 128 42 130 |22 | M20 | 30 | 15 | 135 1256 |14 |60 | 40 | 72 | 52 | 26 | 1892 | M8 | 14 | —
M1120HB2IN| 145 128 42 |30 |22 | M20 | 30 | 15 | 175 126 |14 |60 | 40 | 72 | B2 | 26 | 1892 | M8 | 14 | 104
M1120HC21D| 145 128 42 |30 |22 | M20 |30 | 15 | 135 1256 |14 |60 |40 | 72 |52 |26 1892 | M8 |14 | —
M1221HA21D| 168 145 44 132 |22 | M20 | 30 | 15 | 138 128 |14 | 60 | 39 | 75 | 54 | 27 |1822 | M10 | 17 | —
M1221HB2IN| 168 145 44 132 |22 | M20 | 30 | 15 | 178 128 |14 |60 | 39 | 756 |54 | 27 |182 | M10 | 17 | 104
M1221HC21D| 168 145 44 132 | 22 | M20 |30 | 15 | 138 128 |14 |60 | 39 | 756 |54 |27 |1822 | MIO |17 | —
M1330HA21D| 168 150 51 36 | 26 | M24 | 35 | 16 | 144 134 |18 | 60 | 30 | 79 | 49 | 37 |1822 | MIO | 17 | —
M1330HB2IN| 168 150 51 36 | 26 | M24 | 35 | 15 | 184 134 |18 | 60 | 30 | 79 | 49 | 37 | 1822 | MIO | 17 | 104
M1330HC21D| 168 150 51 36 | 26 | M24 | 35 | 16 | 144 134 |18 |60 | 30 | 79 | 49 | 37 1822 | M10 |17 | —
M1935HC 200 220 245 | 55 | 38 | M36 | 60 | 19 | 164 154 |205| 73 | 38 [133 | 98 5 | 252 M2 | 20 | —

KEZNVHES | S AMEAM]120HE 3.5MPa(35.7kef/cm?) . M1221HE4.0MPa(40.8kef/cm?), M1330HE4.0MPa(40.8kgf/cm?)
W ER  «RUYBIEEEN3.0MPa(30.6kef/cm?) JEEE0TC DR 33TEAA v F : Model BES M12MI-PSC20B-BV02 () UL—J6)8)DC24V 200mA PNP

EX hVRER

EXrV#D

?,.ﬂj E"cllfau kmg“f) kﬁ(lgjf) Eil;lpgg/cﬁ!)fj] I\aljrﬁr{! JFes:;:EEmEE Iﬁ‘likfg.m):J ~

M1120HA21D 20 876 84 | 280 (2855)|27.0 (2753)] 35 (35.7) 12 6000 82 0016
M1120HB2IN 20 87.6 84 | 280 (2855)[27.0 (2753)] 35 (35.7) 12 6000 85 0016
M1120HC21D 20 876 84 | 280 (2855)|27.0 (2753)] 35 (35.7) 12 6000 82 0016
M1221HA21D 21 1067 | 102 | 390 (3977)[380 (3875)| 40 (408) 12 6000 102 0028
M1221HB2IN 21 1057 | 102 | 390 (3977)[380 (3875)| 4.0 (408) 12 6000 105 0.028
M1221HC21D 21 1057 | 102 | 890 (3977)|380 (3875)| 40 (408) 12 6000 102 0028
M1330HA21D 30 12563 | 119 | 470 (4793)[450 (4589)| 4.0 (408) 12 6000 103 0.029
M1330HB2IN 30 12563 | 119 | 470 (4793)|450 (4589)| 4.0 (408) 12 6000 106 0.029
M1330HC21D 30 12563 | 119 | 470 (4793)[450 (45689)| 40 (408) 12 6000 103 0.029
M1935HC 35 274 252 |103 (10503)|94.6 (9646)| 4.0 (408) 12 6000 23 0.15

@



fRsc/hBYiH E T

M ER|

#RY, M8, BE
BEX K RIEEFRNBERIE Rt

QE=E/M15
O, BERAR EM SR LR
* CEXT Rz BOEFF IR R,
B IRIBV RIS R GKE,
u RTJ BEESRRRIHESER,
=
R Q
M-HA 2 M-HB 2 LT
(L) (£2K)
[=2] T o) T
Ho ; K wo
e S s
TEYns 1 =S S
1 2% 5-Rel/4 2%
FREN:] ‘Q| —— RPN RER '@‘i
. | 2-4U , = | ' |
¥y ol s e T T 6-T
bri M NM\6-T /. & NS
MBX1 12 “ T il M6X1 12 B el
s : Lt P LR
M-HC & R Q M1935HC
(F7L) H
A %%
_ 3Rel4 - 9
2-¢UN
R )l .
M6X1 RE12 N
=)= = P

M1120HA21D| 145 128 42 130 |22 | M20 | 30 | 15 | 135 1256 |14 |60 | 40 | 72 | 52 | 26 [1892 | M8 | 14| —

IMHEOHBEIN 145 128 42 | 30 | 22 | M20 | 30 | 15 175 125 |14 |60 | 40 | 72 | 52 | 26 | 1592 | M8 | 14 | 104
|M1120H021D 145 128 42 | 30 | 22 | M20 | 30 | 15 135 125 [14 | B0 | 40 | 72 | B2 | 26 [ 1592 | M8 | 14| -
|M1221 HA21D| 168 145 44 | 32 | 22 | M20 | 30 | 15 138 128 |14 |60 | 39 | 75 | B4 | 27 |1822 | MIO | 17 | —
|M1221H821N 168 145 44 | 32 | 22 | M20 | 30 | 15 178 128 |14 |60 | 39 | 75 | B4 | 27 | 1822 | M10 | 17 | 104
|M1221 HC21D| 168 145 44 | 32 | 22 | M20 | 30 | 15 138 128 |14 |60 | 39 | 75 | B4 | 27 |1822 | M1O | 17 | —
|M1330HA21 D| 168 150 51 36 | 26 | M24 | 35 | 15 144 134 |18 |60 | 30| 79|49 | 37 |1822 | M0 | 17| -
|M1330HBEIN 168 150 51 36 | 26 | M24 | 35 | 15 184 134 |18 | 60 | 30 | 79 | 49 | 37 | 1822 | MI0 | 17 | 104
|M1330H021 D| 168 150 51 36 | 26 | M24 | 35 | 15 144 134 [18 | B0 | 30 | 79 | 49 | 37 [1822 | M10 | 17 | -
[M1935He 200 220 245 | B5 | 38 | M36 | 60 | 19 164 154 |[205| 73 | 38 |133 | 98 5 | 252 M12 | 20 | —
NOERIES: BEEEN M1120HE 3.5MPa(35.7kgf/cm?), M1221HE 4.0MPa(40.8kgf/cm?), M1330HE 4.0MPa(40.8kgf/cm?)
BB E «2tE: E03.0mpa(30.6Kgf/CM2) #iB50° C 3% BS BES M12MI-PSC20B-BVO2(E &% 4i&) DC24V 200mA PNP
i EE@ER RIFF

EEOR  pam mam  mom aom
cma2 cma2 kN (kgf) kN (kgf)

SOt ER

¢ /min

BRAIREBESD
MPa(kgf/cm?)

BirBEEREE
min: kg kg-m?

M1120HA21D 280 (2855)|270 (2753)] 35 (35.7) . :

[M1120HB21N 20 876 84 | 280 (2855)|27.0 (2753)] 35 (35.7) 12 6000 85 0016
IMHEOHCE]D 20 876 84 | 280 (2855)|27.0 (2753)] 35 (35.7) 12 6000 82 0016
[W1221HA21D 21 1057 | 102 | 390 (3977)[380 (3875)| 4.0 (408) 12 6000 102 0028
[wi221HB21N 21 1057 | 102 | 390 (3977)|380 (3875)| 40 (408) 12 6000 105 0028
|M1221H021D 21 1067 | 102 | 390 (3977)|380 (3875)| 40 (408) 12 6000 102 0028
[W1330HAR1D 30 12563 | 119 | 470 (4793)]450 (4589)| 40 (408) 1.2 6000 103 0029
[W133oHB21N 30 1263 | 119 | 470 (4793)|450 (4589)| 40 (408) 12 6000 106 0029
IM1330HCE]D 30 1263 | 119 | 470 (4793)/450 (4589)] 40 (408) 12 6000 103 0029
[w1935He 35 274 252 |103 (10503)[946 (9646)| 40 (408) 12 6000 23 0.15






